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Find the value of the discriminant Aaan il Alslaall jraall dad 2o )
for the quadratic equation .3x*—3x4+8=0

3x2 —-3x+8=0.
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Find the tenth term of the geometric doadigl) ATl G &l asl) aag)
sequence 1,—-2,4,—8, .... 1,—2,4,—-8, ...
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Write a quadratic equation in

standard form using the roots
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If the measures of two sides of
a triangle are 7 cm and 11 cm,
which Is the least possible whole

number measure for the third side?
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shown in the graph?

A2 d b do




BRS i o st o 0l
. A
2
=1
+1






33:27

o 25 - 24 f’ o

0 #-x—20=0

O x>+9x—-20=0
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Solve the equation
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If P is the incenter of AXYZ, AXYZ 3l 38 3$m P ocals )
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© PK = 27
O PK =12

O PK=10
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In AABC, Q is the centroid and 4i3$sall Al & Q o\S 1)) AABC S
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Find the value of ¢ that makes

x? — 9x + ¢ a perfect square

trinomial.

O 4.5

O 81
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Find the domain of the function adlall Jlaa a9l

f(x) =Vx—4. f(x)=Vx—4
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O 4cm

O 2cm

O 5cm

O 3 cm
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If the measures of two sides of Galia A& cuala Lulad ols 13)
a triangle are 7 cm and 11 cm, OSas pmawa 336 Jif L (11 cmy 7 cm
which is the least possible whole T aliall ulal

number measure for the third side?

O 4cm
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Solve the equation
55x — (125)x+2_
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O x=2
O x=5
O x=2
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Find the range of the function

f(x) = —2(3)* + 5. S(x) = —2(3)* + 5 allall gaall 3a
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